

(1) 箱への取り出し方を1回ずつ行ったときの、書かれた数の積の総和は

$$\begin{aligned} & \frac{1}{2} \{ (1+2+\dots+n)(1+2+\dots+n) - (1^2+2^2+\dots+n^2) \} \\ &= \frac{1}{2} \left\{ \frac{1}{4} n^2 (n+1)^2 - \frac{1}{6} n(n+1)(2n+1) \right\} = \frac{n(n+1)}{24} \{ 3n(n+1) - 2(2n+1) \} \\ &= \frac{n(n+1)}{24} (3n^2 - n - 2) = \frac{n(n+1)(n-1)(3n+2)}{24} \end{aligned}$$

$$\begin{array}{r} 3n+2 \\ n-1 \overline{) 3n^2 - n - 2} \\ \underline{3n^2 - 3n} \\ 2n - 2 \\ \underline{2n - 2} \\ 0 \end{array}$$

箱への取り出し方は $\frac{n(n-1)}{2}$ 通り

$$\therefore E = \frac{\frac{n(n+1)(n-1)(3n+2)}{24}}{\frac{n(n-1)}{2}} = \frac{(n+1)(3n+2)}{12}$$

(2) 箱への取り出し方を1回ずつ行ったときの、書かれた数の積の総和は

$$\begin{aligned} & \frac{1}{6} \{ (1+2+\dots+n)(1+2+\dots+n)(1+2+\dots+n) - 3(1^2+2^2+\dots+n^2)(1+2+\dots+n) + 2(1^3+2^3+\dots+n^3) \} \\ &= \frac{1}{6} \left\{ \frac{1}{8} n^3 (n+1)^3 - 3 \frac{1}{6} n(n+1)(2n+1) \frac{1}{2} n(n+1) + 2 \frac{1}{4} n^2 (n+1)^2 \right\} = \frac{n^2 (n+1)^2}{48} \{ n(n+1) - 2(2n+1) + 4 \} \\ &= \frac{n^2 (n+1)^2}{48} (n^2 - 3n + 2) = \frac{n^2 (n+1)^2 (n-1)(n-2)}{48} \end{aligned}$$

$$\begin{array}{r} n-2 \\ n-1 \overline{) n^2 - 3n + 2} \\ \underline{n^2 - n} \\ -2n + 2 \\ \underline{-2n + 2} \\ 0 \end{array}$$

箱への取り出し方は $\frac{n(n-1)(n-2)}{6}$ 通り

$$\therefore E(n) = \frac{\frac{n^2 (n+1)^2 (n-1)(n-2)}{48}}{\frac{n(n-1)(n-2)}{6}} = \frac{n(n+1)^2}{8}$$

$$\phi(2) = \lim_{n \rightarrow \infty} \frac{E(n)}{n^3} = \lim_{n \rightarrow \infty} \frac{1}{8} \left(1 + \frac{1}{n}\right)^2 = \frac{1}{8}$$